Check even answers 4.4
4.4 #2
The logarithm of a quotient of two numbers 1s the same as
the DIFFERENCE of the logarithms of these numbers.
25

So log. — = log.25 — log.125 = 2-3=-1]
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4.4 #8 (a) logé is the same as log 4-logB TRUE

B

log 4 1s the same as log A-log B FALSE
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Check work for 4.4
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Applying Properties (Laws) of Logarithms

l. log,x. logex, log,x, and log,x are all

examples of 6 enp o \\ logarithms.

2. A COMMON logarithm has a base of | O :

Therefore it can be written as , D4 . X, but is
Juo

usually abbreviated as

04 X
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3. A NATURAL logarithm has a base of €.
Therefore 1t can be written as \D Yo X or\ X,

but 1s usually abbreviated as l N X

4. a) The number e = QWIX
o =10 e =¢ -
|

b) loglo= 1 ¢)lne= 1 d)logl= O

e) log0 = Ull/}o‘ ef f) log-10= U\V\leFW\QA
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Solve for x using properties of logarithms. Show
all steps by applying one property at a time.
NO CALCULATOR!
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6. l]]J}:+]JJ.’:7 =n27

o

7. 2log,x+log,9=4

—> Careful!! “Merge” logs fogether on the left side of the

equation then solve by rewriling in exponential form.
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Use properties of logarithms to evaluate each expression.
Clearly show all steps by applying one
property at a time. NO CALCULATOR.
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